W o =) .
235 &N
[a% o -
o 3 = =
Sol= = =
O S <= >= (W gp]
LRz = —
ORI o o~ = 5 rnOd
o a5 D g | ==
= EIELe O S v, B
=< o™ = O 8 x |
S xX|E=2~ O | =g ¥
: == og 2F..
: == Ao azl B
W. <@ Ll — =k .N/Na
o S x| | <5 g
O N = — ~N —
= |BEE 5 ||z &
— I~ = o©o m Q 2
~ TI=E=xos O | B =
S ol== I IS PN
F oDl =S c c
a ~ M =22 - - R
C f— ~—
=¢|= 2| |E|B| =
3 S S 3 3 3 3 3 S S © slde | 5| ©
~— o o> o) N~ © Lo < ™ = = =P S o
Lo o <F < < < <f < < a s = 52
~— N AT AT ~— ~— ATHS ATHS T [ WAA
r T T T T T T T _”: m JJ U0
NS
A 1k
2 -gL'8yLF8L8vl+ 000 - a1 GO'V6 ]
2 -90'8yL +90'8YL+ 000 XL 00061
©, <\
> -06'LYLF L6 LYL+ 100 L£9'€8
- 287V L T8 LvL+ 000 A 00081
L9l L9 YL+ 100 A 000/
£ m € m 1=
0N . . . w 1 .
228s PG ES LYl 200 {8 2 L1979
.. AN T Nl
LSy vl LY v+ 10°0- L0009
-GE PV FTE YLt €00 A L0006
< Le L 8T YL €00 L0L'SYA
8T YL ST LYVt €00 A 000V 1
- 2T PV 6L L+ €00 A L00°0¢
o 5=
S~ o
=) FOVIpL RV P 100 12| S L0002
o Tl
—
L0V vL 12k vkt €00 L0001
<|&
Bl o
ol S
x| = P
o h_ o
L i 1 1 ‘A | L An N\
YO'LPL 4LV LPL 1+ 2070 00001
L00'LPL+20° 2L+ 100 IRTE
- 16'9PLFSEOPL+ 200 A L0006
£ 1S
S8 E S&
=583 -98'9rL T €89Vl €00 S o3 11228
ST E -Z89vL 1 08'9vL+ 200 4|5 1, L0008
[h'd (n'eg
) LG9YL ] 85°9YL | 000 Y2 0L]
Nogopk [ 2gopk [ 000 000,
o _ . L BEVS .
2 - LzorLFreovk+ 200 1B\ 2 L0009
e
y L6GYL ) C6'SPL ] gpo | L 000G
Nzesrl ] egsyL[ €00 " 9¢°8Y]
= 1S
GWMM . . 188 :
£2s2 FLLISHLTPLSELE 200 { S 2 LE T
g / FZLSYLT LGV 100 | T L00°0Y -
. L 89Syl 195, |0 |2 0v9e
3 0 %o Y .
) = F oSy vasrl] H00 5 e
-Z9'GPLHLOSYL+ 000 A -00°0¢
e 1S
S & 8§
2288 -SSPl r8SSYLT 000 {8 < -61'€2-
dph WeG'GyL=2d 9GSl 65°GPL L 100 { &b = L00'02-
89'61Z+0=W
< - 09'SPL+09°GhL+ 000 79T
1961 +19vL+ 100 A L0001
o
&
1S =)
2 < [ Y
3 F99'srL+29srh 100 45 [ S| | toooo -
<~ o h R
v VLGP L 69°GY) | Z00 4 L0006
<t . .
= SZUsp T LLspL T 00 o r09'£81
N %u/s N
5 b en| /S
/ 8. mi-- Ll mi-m 100 /.4 , 0008
> 6Lv1 | grgpL [ 100 6261
- 18'ShL 1 28'SvL+ 000 A -00°0.1
1S £
E8E 8 &
2582 FSESPL 965K 100 { 8 o L02'€9
St L 66GhL+009VL T 100 | g — 0009
< L LoVl ELOvLL o0 - -00°06
S LLVOpLT ZLopkT 000 Ch Ly
-6Z°97L+629VL+ 000 - 000V
-GropL-L v ovl+ 100 - L00°0¢
-19'9%L -+ €99k + 20°0- - L0002+
(=] m 00
g 815
- 1L9vL 1 89vL -+ v00- A = | Eloool-
D | o
o ~
&\ g
5
| on 1 pgp- 1 e | | A N\
£6'9vL+ 669711 900 00001
L6071+ SL LvL+ 900~ A -00°061
L ZTLYVL 9T YL Y00 L 9518
> S GZ LYV 8TLYVT $0°0- £ 00081
e 1=
ESE BELYL| OV LYV z00- ||S E 0002
m M m M E + nm . = m AO.. m e
NS 2 6 LyL |\ byiph| OO ]IS 9569
1 .. | L
[a'e (g
< v 67 LYl 6V L)) 000 4 L0009
S5 LT LG T 000 r99°L8
s &/ 53
S FIS LDV T8G LT 000 g [ & L0006
S T
= L YO LYLL €9IPLL 100 L 6ELY ]
KGO UVLT VLYV T 100 T K000V ]
LU 0L bt 100 -00°0¢ 1
%w LV LI 00 S S -00°0Z-
|
-e8'LPLFES YL+ 000 A L0001
o
S
&
o . . . _ e
S -68'LYL+68°LVL+ 000 <£10000-
n | o
elw
& = = S & & & & & = eeser
S S S S S S S S S o |l | >
~ (@) (@) [e0) N~ © Lo < o C -
o rp) < < < < < < S| 2| 9 ()
< Q|| |2 &
=zl 0|2 5 |2|&
LLl W (- (Og TS
w =% | N *~1'G | 'N
2o l= g 220 8
Zleoelo | 8icici|s
oS |E g2 2D
D || S |g|le|d|E
=| | O | N —
O | D O
O N N O |V VIO | =
Nl |of o2 (WO [X
N




